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(mm) yid a 13 (kg/cni)
0.5 50 9.9 5.25 4439
1.0 11.0 10.0 10.50 88.79
1.5 16.0 15.0 15.50 131.08
20 21.0 20.0 20.50 173.36
2.5 25.0 240 24.50 207.19
3.0 290 | 28.0 | 2850 241.02
5.0 40.0 40.0 40.00 338.28
1.5 50.5 50.5 50.50 427.07
10.0 60.5 60.5 60.50 511.64
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1.HBRER
BEI=mm) | aBF+t( b.&(e) et ERED RIEE®)
40.0 555.0 555.0 0 0 100.00
37.5 542.7 542.7 0.0 0.00 100.00
31.5 528.2 528.2 0.0 0.00 100.00
19.0 545.4 545.4 0.0 0.00 100.00
13.2 574.4 574.4 0.0 0.00 100.00
9.5 921.3 543.8 3775 25.82 74.18
6.7 781.9 479.5 302.4 20.68 53.50
4.75 810.7 529.4 281.3 19.24 34.26
2.36 843.4 491.2 352.2 24.09 10.17
1.180 599.2 465.4 133.8 9.15 1.02
0.425 365.6 351.7 13.9 0.95 0.07
0.075 306.1 305.1 1.0 0.07 0
0.0 348.2 348.2 0.0 0 0
a5t — — 1462.1 100 100
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